A

| & 0l &8 A & FH Al

A

S XIS R L
BE: NATE
CHol: THRHAIR ZAEH CEERED
_ _ _ Muo
SH-EH . S2(30) - MRAY - BES Ofl & 04 Sl ko HRE2
K& Ml ot 10,416,256 5,863,844 4,552,412
= 292,380
= 1,400,000
&2 20,000
S 318,239
= 8,385,637
ST E 2,143,496 2,037,572 105,924
2 292,380
= 20,000
= 98,239
i 1,732,877
Ml Al 43t 40,870 53,394 N 12,524
MeHAlE Edst 2 AdE X2 40,870 53,394 AN 12,524
101 212l 3,831 3,546 285
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= 2,025
= 607
= 1,418
01 AtR 22l 4,050 6,800 N2,750
o M IS WIHHI 500,000 * 23| 1,000
= 500
= 150
= 350
o oS 20,000 * 25% » 2& * 28 2,000
= 1,000
= 300
= 700
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401 Al EHIL 2O 101,400 0 101,400
01 Al& | 100,000 0 100,000
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= 180,000
2 280,000
402 Q12t 20| 460,000 340,000 120,000
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